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QUESTION 1

Which two fields are mandatory to set up a carrier in the Carrier Set-Up UI, if you want to utilize Parcel Carriers to fulfill
orders? (Choose two.) 

A. Carrier Phone Number 

B. The Ship Via 

C. The Company 

D. The Carrier Type 

E. The Description 

Correct Answer: BD 

 

 

QUESTION 2

Which five combinations of lot and expiry date are valid scenarios in WMS Cloud? (Choose five.) 

A. Two IB LPNs of the same item have different lots and the same expiry dates. 

B. Two IB LPNs of the same item have the same lot and the same expiry date. 

C. The IB LPNs have an item with the same lot and different expiry dates. 

D. An item is lot-tracked but not expiry-date-tracked. 

E. An item is expiry-date-tracked but not lot-tracked. 

F. Two IB LPNs of the same item have different lots and different expiry dates. 

Correct Answer: BCDEF 

 

 

QUESTION 3

Select two true statements about Group Configuration. (Choose two.) 

A. Only the RF Menu uses the concept of Groups 

B. Users can assign specific access to activities by using Group permissions 

C. Permissions come already pre-assigned to standard Groups in the system and cannot be changed 

D. Users must log out when switching Groups 
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E. User can belong to multiple Groups 

Correct Answer: BE 

 

QUESTION 4

You are creating a standard report for a client to display LPN Numbers (for multi-SKU LPNs) and their associated items.
The two data fields you have in your report are LPN Number and Item Code. Identify what controls need to be set to
create a sub-total for the number of items for each LPN. 

A. Set the Summary Function for item to "Count" and check the Summarize By box for LPN. 

B. Set the Summary Function for item to "Total" and check the Group By box for LPN. 

C. Set the Summary Function for LPN to "Count" and check the Summarize By box for Item. 

D. Set the Summary Function for LPN to "Total" and check the Group By box for item. 

Correct Answer: A 

 

QUESTION 5

Which statement is true regarding Replenishment Rules? 

A. Replenishment Rules created at Parent company view can be edited at Child company view. 

B. Replenishment Rules are used for defining Wave Template. 

C. Replenishment Rules are used for Inventory movement between two warehouses. 

D. Replenishment Rules are only editable at the company level in which it was created. 

Correct Answer: B 
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